First Year Exam
Agric Eng. Students, Second Term study
Time: 2 Hour
Exam date: 15/6/2011
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1-Site these statements to the Arabic expressions. (1 ° Degrees)

Mansoura Universit};m
Faculty of Agriculture
Agric. Engineering Dept.

Soil preparation machines Food processing

Filling Four strokes cycle

Excavator 5 Agricultural machinery

Mechanical efficiency _ Relative humidity ]
Lubrication cycle : Flood irrigation
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3-Translate to Arabic (! ° Degrees)

Farm tractor engine follow either a 2- or d4-strokes' cycle. A cycle refers to engine
movement required before the events repeat. The necessary events in any internal
combustion engine are (1) the intake of air, (2) the compression of the air, (3) combustion
and expansion, and (4) exhausting the burned products. Fuel may be inducted with the air
in carbureted engine or it may be injected during the combustion and expansion process.

In the 4-strokes' cycle, approximately 1 stroke is required for each event, or 2-complete
revolutions are required for a cycle to be completed. In the 2-strokes' cycle, the exhaust
and intake are shortened, so simultaneously the other events (compression and expansion)
are shortened so that a complete cycle may occur in 1 revolution of the engine crankshaft.

Two-strokes' cycle engines are lightweight for power produced and efficient at low engine
speeds. Using crankcase compression, they are able to operate in any position, are simply
constructed, and inexpensive. Four-strokes' cycle engine have greater fuel efficiency at the
high engine speeds most commonly used by farm tractors.

4. Read section 3 and Answer the following questions (25 Degrees):
4.1 Comprise between the 2- and 4- stroke cycle engines?
4.2 Choose the right answer: In two strokes’ cycle engine, a complete event requires,
(a) one crankshaft revolution, (b) two crankshaft revolutions, (¢) four crankshaft revaluations
4.3 Give the opposite of the underline words
4.4 Explain how fuel inters combustion champers in case of 2- and 4- stroke engines.
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4.5 Both exhaust and intake as well as compression and expansion are shortened...Explain
this statement
4.6 What are the major agricultural engineering branches and their aims?
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Good luck for all .....



